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Sentence Match Quiz for Category: family_1 
Mark the sentence that matches each item below. 

1) Mi tío está en México.
- A: I have two sisters.
- B: My brother is angry.
- C: My uncle is in Mexico.
- D: My sister is 22 years old.

2) Mi hermana tiene 22 años.
- A: my brothers
- B: My sister is 22 years old.
- C: My brother is angry.
- D: I have two sisters.

3) Mi hermano está enojado.
- A: My daughter is very intelligent.
- B: My mother is a widow.
- C: My brother is angry.
- D: I have two sisters.

4) Mi yerno es abogado.
- A: My son-in-law is a lawyer.
- B: My brother is happy.
- C: My uncle is in Mexico.
- D: My sister is 22 years old.

5) Mi tía llega mañana.
- A: My aunt arrives tomorrow.
- B: I'm the black sheep of the family.
- C: I have three children.
- D: My dad’s hair is dark brown.

6) Soy la oveja negra de la familia.
- A: My son-in-law is a lawyer.
- B: My brother is angry.
- C: I'm the black sheep of the family.
- D: My uncle is in Mexico.

7) Alicia visita al abuelo.
- A: Alice visits her grandfather.
- B: My uncle is in Mexico.
- C: My girlfriend is blonde.
- D: My mother is a widow.

8) Mi novia es rubia.
- A: My girlfriend is blonde.
- B: My uncle is in Mexico.
- C: My daughter is very intelligent.
- D: My relatives live in Florida.

9) Mi hija es muy inteligente.
- A: My daughter is very intelligent.
- B: My sister is 22 years old.
- C: My uncle is in Mexico.
- D: My girlfriend is blonde.



Name:_______________________________________________ Date:______________

Copyright © 2025 - 123TeachMe.com d3d02 2

(continued) Sentence Match Quiz for Category: family_1 
Mark the sentence that matches each item below. 

10) Mis parientes viven en Florida.
- A: What is the baby’s name? (girl)
- B: My relatives live in Florida.
- C: My uncle is in Mexico.
- D: My brother is angry.

11) Mi sobrino tiene cinco años.
- A: My dad is a cook.
- B: My uncle is in Mexico.
- C: My nephew is five years old.
- D: My aunt arrives tomorrow.

12) Tengo dos hermanas.
- A: I have two sisters.
- B: My grandfather is ninety.
- C: My brother is angry.
- D: Alice visits her grandfather.

13) Tengo dos hermanas.
- A: I have three children.
- B: I have two sisters.
- C: My sister is a pilot.
- D: My aunt arrives tomorrow.

14) Mi esposa tiene seis hermanos.
- A: I have three children.
- B: My son arrives on Tuesday
- C: My wife has six siblings.
- D: My grandfather is ninety.

15) Mi hermana tiene el pelo largo.
- A: My sister has long hair.
- B: My sister is 22 years old.
- C: My mother is a widow.
- D: My uncle is in Mexico.

16) ¿Cómo se llama la bebé?
- A: What is the baby’s name? (girl)
- B: I have three children.
- C: My relatives live in Florida.
- D: My son-in-law is a lawyer.

17) Yo tengo tres hijos.
- A: I have three children.
- B: My brother is angry.
- C: My dad is a cook.
- D: My sister is 22 years old.

18) Mi hermana es piloto.
- A: I have two sisters.
- B: My sister is a pilot.
- C: What is the baby’s name? (girl)
- D: My uncle is in Mexico.
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(continued) Sentence Match Quiz for Category: family_1 
Mark the sentence that matches each item below. 

19) mis hermanos
- A: My grandfather is ninety.
- B: my brothers
- C: I have two sisters.
- D: My sister has long hair.

20) Mi padre es cocinero.
- A: My dad is a cook.
- B: My son-in-law is a lawyer.
- C: My sister is 22 years old.
- D: My aunt arrives tomorrow.

21) Mi mamá es viuda.
- A: My grandfather is ninety.
- B: My daughter is very intelligent.
- C: My mother is a widow.
- D: My sister is a pilot.

22) El cabello de mi papá es café.
- A: My dad’s hair is dark brown.
- B: What is the baby’s name? (girl)
- C: I have two sisters.
- D: My uncle is in Mexico.

23) Tengo dos hijos.
- A: My sister is 22 years old.
- B: I have two children.
- C: My girlfriend is blonde.
- D: My grandfather is ninety.

24) En mi familia hay seis personas.
- A: My sister is 22 years old.
- B: In my family there are six people.
- C: My brother is angry.
- D: My uncle is in Mexico.

25) Yo tengo gemelos.
- A: I'm the black sheep of the family.
- B: My uncle is in Mexico.
- C: I have twins.
- D: My sister is a pilot.

26) Mi sobrina es muy alta.
- A: What is the baby’s name? (girl)
- B: My niece is very tall.
- C: My uncle is in Mexico.
- D: My sister is 22 years old.

27) Mi hermano está contento.
- A: In my family there are six people.
- B: My brother is happy.
- C: My daughter is very intelligent.
- D: My nephew is five years old.
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(continued) Sentence Match Quiz for Category: family_1 
Mark the sentence that matches each item below. 

28) ¿Cómo se llama el niño?
- A: I'm the black sheep of the family.
- B: What is the child’s name? (boy)
- C: My sister is 22 years old.
- D: My daughter is very intelligent.

29) Mi hijo llega el martes.
- A: My son arrives on Tuesday
- B: I have three children.
- C: My son-in-law is a lawyer.
- D: What is the child’s name? (boy)

30) Sí, mi hermano maneja.
- A: My brother is happy.
- B: my brothers
- C: Yes, my brother drives
- D: My uncle is in Mexico.

31) Mi abuelo tiene noventa años.
- A: What is the baby’s name? (girl)
- B: I'm the black sheep of the family.
- C: My grandfather is ninety.
- D: My uncle is in Mexico.

32) Mi abuelo es muy alto.
- A: My son-in-law is a lawyer.
- B: My grandfather is very tall.
- C: My uncle is in Mexico.
- D: My aunt arrives tomorrow.
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Answer Key for Worksheet d3d02

Sentence Match Quiz starting on page 1
1 = C , 2 = B , 3 = C , 4 = A , 5 = A , 6 = C , 7 = A , 8 = A , 9 = A , 10 = B , 11 = C , 12 = A , 13 = B , 14 = C , 15 = A , 16 = A ,
17 = A , 18 = B , 19 = B , 20 = A , 21 = C , 22 = A , 23 = B , 24 = B , 25 = C , 26 = B , 27 = B , 28 = B , 29 = A , 30 = C , 31 =
C , 32 = B


